Chapter 21: Reaction, Revolution, and Romanticism (1815-1850)

Lesson 3: Revolution and Reform (1830-1850)

Opening the Lesson:

1. Begging in 1830, the forces of change began to break through the conservative domination of Europe, more successfully in some places than in others.

2. In 1848, a wave of revolutionary fervor moved through Europe, causing liberals and nationalists everywhere to think that they were on the verge of creating a new order.

Developing the Lesson:

I. Another French Revolution.

A. The actions of Charles X—The July Revolution.

1. Remember Charles X was an ally of the ultra-conservative forces in France.

2. In 1830, he dissolved the legislature in 1830 over the extent of new reforms.  He was being pulled into two directions (liberals; ultra-royalists).

3. Charles called for a new election. The liberals won.

4. On July 26, 1830, Charles issued a set of edicts (the July Ordinances).

a. Censorship on the press.

b. Dissolved the legislative assembly.

c. Reduced the electorate in preparation for new elections.

5. His actions resulted in an immediate rebellion—the July Revolution.

a. Barricades went up throughout Paris.

b. A provisional government was implemented (mainly moderate propertied liberals).

c. Appealed to Louis-Philippe, the duke of Orleans, a cousin of Charles X, to become the new constitutional monarch.

d. Charles X fled to Britain.

e. A new monarchy had been born.

B. Louis-Philippe (r. 1830-1848).

1. Called the bourgeois monarch because political support for his rule came from the upper middle class. He even dressed like the middle-class.

2. L.P. implemented a series of reforms that favored the upper middle-class.

a. Reduced financial qualifications for voting (not significantly—increase from 100,000 to 200,000).

b. This guaranteed that only the wealthiest could vote.

3. The lower middle-class and working class were disappointed because they helped depose Charles X but were excluded from participating in the new government.

4. High unemployment, industrial working conditions, poverty and the inability to participate in the political process resulted in periodic outburst of violence.

5. Conflict over the direction of the bourgeois monarchy existed in the legislature.

II. Revolutionary Outbursts in Belgium, Poland, and Italy. (Nationalist Revolutions).

A. Belgium.

1. In an effort to create a stronger, larger state in France’s northern boarder, the Congress of Vienna had added the area once known as the Austrian Netherlands to the Dutch Republic.

2. Differences in language, traditions, and religion resulted in the secession of Belgium.

3. The major European powers allowed an independent Belgium to be created.

4. Leopold of Saxe-Coburg, a minor German prince, became the new king and a Belgian national congress established a constitutional monarchy for the new state.

B. Italy.

1. Nationalist uprising.

2. Suppressed when Metternich sent Austrian troops to Italy.

C. Poland.

1. Nationalist uprising in 1830.

2. Poles tried to free themselves from Russian control.

3. Crushed by the Russian who then implemented an oppressive military dictatorship in Poland.

4. The Polish uprising affected Russian intellectuals.

III. Reform in Great Britain.

A. The Whigs.

1. New parliamentary elections brought the Whigs to power in 1830.

2. The Whigs realized that reforms needed to be instituted to avoid revolution (especially in light of the 1830 F.R., the realities of industrialization and disenfranchisement of many middle-class industrialists).

3. The Whigs in Parliament passed the Reform Act of 1832.

a. Redrew and reapportioned new voting districts.  This gave citizens in industrial centers a voice in government.

b. Lowered the property requirement but not by much. There was an increase in the numbers of eligible voters from 478,000 to 814,000 (only 1 out of every 32 could vote).

c. The Reform Act primarily benefited the upper middle-class; the lower middle-class, artisans and industrial workers still had no vote.

d. Key: the industrial middle-class had been joined to the landed interests in ruling Britain.

C. Other Reforms.

1. The Poor Law of 1834.

a. Based on the theory that giving aid to the poor and unemployed only encouraged laziness and increased the number of paupers.

b. The Poor Law tried to make conditions for the poor so bad they had to work.

c. Those that could not work were placed in workhouses where conditions were intentionally miserable so that people would be encouraged to work.

2. Repeal of the Corn Laws.

a. Pushed by the manufacturers Richard Cobden and John Bright who formed the Anti-Corn Law League in 1838 to help workers by lowering the price of bread.

b. Economic liberals also favored this on the grounds of free trade.

c. The Corn Laws were repealed in 1846 when Robert Peel (Tory) persuaded M.P.s in the principles of free trade.

3. G.B. avoided the liberal and nationalist revolutions the hit the continent in 1830 and 1848 because the most of the middle-class had been satisfied by the Reform Act (1832) and the repeal of the Corn Laws (1846).

IV. The Revolutions of 1848.

A. Introduction.

1. Although liberal and nationalist revolutions were successful in Greece, Belgium and France, the conservative order was still in control.

2. In 1848, revolution in France sparked other revolutions throughout Europe.

B. Yet Another French Revolution—Causes.

1. The Depression of 1846.

a. Impacted the lower-middle class, workers and peasants.

b. 1/3 of the workers in Paris were unemployed.

c. Scandals, graft and corruption were everywhere.

d. The disenfranchised middle class was upset because the government refused to extend the vote.

2. Under Adolphe Thiers, a new opposition coalition formed. It included:

a. Radical republicans.

b. Socialists.

c. Upper middle class.

3. Political demonstrations were forbidden so the opposition organized over 70 banquets between 1847-1848 in which they gathered and discussed reform.

4. They planned a grand banquet on Feb. 22, 1848 and when the government forbade it people came anyway and students and workers threw up barricades in Paris.

5. L.P. abdicated and fled to G.B. on Feb. 24.

6. A provisional government was formed by a group of moderates, radical republicans and even some socialists.

7. The provisional government:

a. Called for the creation of a new constitution and assembly to be elected by u.m.s.

b. Established national workshops under the influence of Louis Blanc.

1. The workshops were cooperative factories run by the workers.

2. The workshops provided jobs mainly leaf racking and ditch digging. 

3. The cost of the program began to overwhelm the government.

8. As a result, there was a split between the moderate republicans (supported by most of France) and the radical republicans (supported by the Parisian working class).

9. National Assembly elections.

a. Moderate republicans—500 seats.

b. Monarchists—300 seats.

c. Radical republicans—100 seats.

10. Between March and June the number of unemployed registered in the national workshops rose from 10,000 to 120,000, emptying the treasury and scaring the moderates who responded by closing the workshops on June 23.

11. The workers rioted for 4 days.  The government forces crushed the working-class revolt. Thousands were killed and 4,000 prisoners were deported to the French colony of Algeria in North Africa.

12. The new constitution was ratified on Nov. 4, 1848 it established:

a. A republic (the Second Republic).

b. A unicameral legislature of 750 elected representatives (3 year term).

c. U.m.s.

d. A President (4 year term).

13. In the presidential elections Charles Louis Napoleon Bonaparte, the nephew of Napoleon Bonaparte won.

14. Within four years, President Napoleon would become Emperor Napoleon.
C. Revolution in Central Europe

1. News of the Revolution in Paris (Feb. 1848) triggered upheavals in central Europe.

2. Fear of revolution caused many German rulers to promise constitutions, free press, jury trials, and other liberal reforms.

3. In Prussia, King Fredrick William IV (r.1840-1861) agreed to abolish censorship, establish a new constitution, and work toward a united Germany.

4. The German states also agreed that the members of the German Confederation would be elected by u.m.s in preparation for a constitution that would unite all of the German states—known as the Frankfurt Assembly.

5. The Frankfurt Assembly:

a. Dominated by well-educated, articulate, middle-class delegates (professors, lawyers, and bureaucrats.
b. The delegates claimed to be the government for all Germans. This caused a great deal of controversy.

c. There was heated debate over the issue of nationalism.

d. Some delegates wanted Austria to be included in a unified Germany (Grossdeutch) others wanted to keep Austria out and they wanted the Prussian king to become the emperor of all the Germans (Kleindeutch).

e. The debate ended when Austria withdrew from the Assembly and King Fredrick William IV rejected the title of emperor. He them withdrew the Prussian delegation.

f. The Frankfurt Assembly was disbanded and liberal reforms, once again, lost.

6. The Austrian Empire:

a. In March of 1848, violence broke out throughout the empire.

b. This was caused by the French Revolution and by the Hungarian leader—Louis Kossuth.

c. Kossuth wanted to remain within the emprie but wanted a separate Hungarian legislature.

d. The protests and violence led to the firing of Metternich.
e. The revolutionaries demanded a liberal constitution, Hungarian autonomy (but they would remain tied to the Hapsburgh monarchy), and Czech autonomy.

f. Emperor Ferdinand I used the military to suppress the revolution. He also scared liberals into thinking the working classes would also revolt.  He abdicated in favor of his nephew Francis Joseph I (1848-1916).
g. Francis Joseph I (1848-1916).

1. Used the military to force Hungary back into the empire.

2. He was unable to defeat Kossuth’s forces and had to rely on 140,000 Russian troops to suppress the Hungarian revolution.

3. The Hungarians were crushed in 1849.

D. Revolts in the Italian States.

1. Giuseppe Mazzini (1805-1872) took the lead in the unification effort (Risorgimento—“resurgence” after the failures of 1830-1831.

a. Mazzini was the founded of the nationalist group Young Italy (1831).

b. Wrote The Duties of Man. He argued that all Italians should unite and establish an Italian republic (he is both a liberal and nationalist).

2. In 1848, revolts broke out in Sicily and spread northward. Ruler after ruler began to grant constitutions throughout the Italian states.

3. Italians in Lombardy and Venetia rebelled against the Austrians (these two states were given to Austria at the Congress of Vienna).
4. Counterrevolutions broke out and suppressed the liberal/nationalist rebellions.

a. Austria defeated Charles Albert (r.1831-1849) the king of Piedmont after he invaded Lombardy to help in the unification effort.

b. French forces helped Pope Pius IX reclaim Rome.

c. Only Piedmont was able to keep a liberal constitution.

5. By 1849, the Italian revolution was crushed.

E. The Failures of 1848.
1. How could so many successful liberal/nationalist revolts in 1848 be crushed by 1849?

a. The unity of the revolutionaries had made the revolutions possible, but the divisions soon shattered their ranks.

1. Except in France, moderate liberals from the propertied classes failed to extend the right to vote to the working classes who helped them in the revolutions.

2. As radicals pushed for u.m.s. liberals pulled back.

3. The liberals feared for their properties and their lives so they allied themselves with the aristocratic conservatives.

b. National minorities also fought amongst themselves instead of unifying.

1. Although the Hungarians wanted autonomy for themselves they refused it for minorities within their control.
2. Slovenes, Croats, and Serbs within Hungarian control were suppressed by the Hungarians.

3. The Austrians used these ethnic divisions to aid them in suppressing the Hungarian revolution.

Concluding the Lesson:
There are a multitude of handouts.
